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N = 0 &8 AF S & Al A
20109 = 20l A LBSIH FIH D ~ A
S 3 H D
gy (Lers Y /U E)
CHRl: ZAte| (e
_ _ boE ==
2N -3 - c2(3H) - NEME - HES 0] AFCH @;OH Hns
3 H 2t 4,621,076 3,075,691 1,545,385
< 15,000
Al 4,606,076
A2 (Lt SHE /UL E) 92,200 75,900 16,300
ZArake] 92,200 75,900 16,300
M A& 2Z &2 A 49,200 26,900 22,300
201 Lt AH| 34,600 26,900 7,700
01 AF222/H] 34,600 26,900 7,700
OZas0lor 20l 20,000& * 1008 2,000
OZ4as0loh HotdHM R0 50003 * 605 300
OZ LN 8ol 40,0008 » 1108 4,400
OZUEENF K0 40,0002 * 1108 4,400
OHAMEY & UM MA Kol
100,000& * 103 1,000
O3 AH2A Hal Kol 50,000& * 305 1,500
O3HEE 2 20,0008 * 6= * 40H 4,800
o220z £=72¢ 20,0008 * 2= * 60H 2,400
OHZE)| EH S AZEFY
600,000 * 38tA 1,800
o+ 100,0002 * 5% * 20 10,000
O<IA0 20,0002 * 5% » 20 2,000
206 2| 6,600 0 6,600
01 THEHl 6,600 0 6,600
OHIZE(EHD) 6602 * 10,0000H 6,600
405 XHoHF SHI 8,000 0 8,000
01 MY SEFSH| 8,000 0 8,000
OHt2E 21d 2| 2,500,000 = 1CH 2,500
OHIRE 28| 2,500,000 = 1CH 2,500
OH2E =278 R¢ 3,000,000& = 1CH 3,000
2EA8)|HB 43,000 48,000 25,000
201 Lt AH| 43,000 48,000 25,000
01 AP Zeltl 31,000 30,000 1,000
OSARIIMA & ZHAXEN Ol
10,0002 * 1008 * 4= 4,000
OMBEDA I 40,0009 = 1508 6,000
QAEHMIIHIZRZIHAMN ) 2AH| 21,000
—2A27| AKX WE HS
500,000 = 12 6,000
—MEEDAM =d U222
5,000,000 = 14l 5,000
— 20| HAN HE B2
10,000,000 * 14! 10,000
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Zatze]
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02 2223 12,000 18,000 6,000
OSAR2)| S HEBAAE(DAIS) RXl22]
1,000,000& = 12& 12,000
Hetzgl(gers s /LB ) 426,772 403,848 22,924
orztel 426,772 403,848 22,924
HAESE & =2 19,000 29,000 A 10,000
201 B3 19,000 29,000 A 10,000
01 AtR22 7,200 7,200 0
O gBr==ZH| 5,400
— Hormel HAR
200,000& * 58 = 13l 1,000
— AR AR(BALSE, BA)
300,000& * 3& = 13| 900
~ Herme wy =20
100,000& * 3& = 13| 300
— YEBRAA R0
100,000& * 9& = 13| 900
— S22 HA 7O
100,000& * 58 * 13l 500
— S8 EX 2 30,000 * 58 * 12& 1,800
O HAMAAH 2H4E 1,800
— fIdsY 70,000& » 109 * 23] 1,400
— A0 20,000& * 10Z = 23| 400
02 Z23=2ZH 11,800 21,800 A 10,000
O Herzet m2lw |XE4
900,000& * 24| 1,800
O dIYEOE =2 20,0003 * 5004 10,000
232l 69,600 107,200 A 37,600
405 TtatHSH 69,600 107,200 A37,600
01 &L 2EFHSHI 69,600 107,200 A37,600
ODNEXTEAN O ZALE)
20,000,000& = 1CH 20,000
ODNEFMTSAI(F2 =X D, Xl 2= TH D)
17,000,000& * 2CH 34,000
OFA AARE &I #¢ 8,000
— 34 170,000 * 25%& 4,250
-9 THAIRE) 150,000& * 25= 3,750
OZ2MM DUEH 7 (FAA)
4,000,000& * 1CH 4,000
(OFSg~ & 4dx8 FIIHE 7 3,600
— A (2 AEHEZ) 500,000& * 1= 500
— o (EHE= 200,000& * 62 1,200
—&X 200,000& 2% 400
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SN 8D
BB orRel(UNBDHT/LPHT)

el A2t

2N -3 - c2(3H) - NEME - HES 0] At oH

- 320 B2, IR, FLR)

3,000,000 = 1CH 3,000
c 26T 2256(5E, H2RE, FEYR)

3,000,000 * 1CH 3,000
- 32K 2218(5E2, EE2. FELR)

2,000,000 = 1CH 2,000
- 2M 2221(s82, 238, YY)

2,000,000 = 1CH 2,000
- 32K 2266(22, 22, L)

2,000,000 = 1CH 2,000
200 R4(EE, EEE, FEYR)

2,000,000 = 1CH 2,000
- 20M 248(sE, EEZ2, FYR)

2,000,000 = 1CH 2,000
- 20K R249(s2, EHE, FEYR)

2,000,000 = 1CH 2,000
- 20N (8, EEE, FHER)

2,000,000 = 1CH 2,000
<200 9243(5E, EEE, FEYR)

2,000,000 * 1CH 2,000
- 32K 2229(5E, EEZ2, FELR)

2,000,000 = 1CH 2,000
- 2M 2237(s82, 232, FYR)

2,000,000 = 1CH 2,000
- 32K 2238(s2, X2, L)

2,000,000 = 1CH 2,000
200 Ue7(Ci=sdsg, 222, 83K)

2,000,000 * 1CH 2,000
- 324 6886(LI2EsE, 422, d48)

2,000,000 * 1CH 2,000
- 62K 2150(CI2ESE2, MEMAS, B
) 2,000,000 = 1CH 2,000
- 208 012 EsE, 222, ER)

2,000,000 = 1CH 2,000
<7271 2000(CH2E &2, AEE, BR)

2,000,000 * 1CH 2,000
- 20N 9563(CI=2Xs2, MEXENFZ,
adg) 2,000,000 = 1CH 2,000
721 9125(HE &8, QL2 AR)

15,000,000 = 1CH 15,000
78% 4576(=S =g, URAxS2, FR)

4,000,0002 * 1CH 4,000
<720 4026(A~ESE, AIYE, B8)

2,000,000 * 1CH 2,000
- 783 4556(AEESE, MEE, BR)

2,000,000 = 1CH 2,000
<721 1509(AESE, ANIYEE, 38)

2,000,000 = 1CH 2,000
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R
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A 2 A

HE: JorEe (UNBDYT /L)

el Ak (&9 HM
i, _ _ pSIEN=
SAN-ZH-SA(FA) - NFAY - BES O AF K 'Oﬁ/'\ja'g Hlw &2
- 62K 2010(A8 S8, &=2XEE, 2])
2,000,000& = 1CH 2,000
<72 pR(EEA, HHPS, ER)
2,000,000 = 1CH 2,000
- 8271 8513(AESIE, AIZE, ER)
2,000,000 = 1CH 2,000
- 82U 3091(AEsE, AIZE, ER)
2,000,000& = 1CH 2,000
- 82U 3017 (AE3E, AIYS, ER)
2,000,000& = 1CH 2,000
- B 4376(AEIEE, AHS, ER)
2,000,000 = 1CH 2,000
- 821 3018(AESIE, AIZE, ER)
2,000,000 = 1CH 2,000
- Bx B225(AEEE, AIZE, ER)
2,000,000& = 1CH 2,000
- B 1377 (AEEE, AYS, ER)
2,000,000& = 1CH 2,000
<997 QUIB(ALH, AIEE, BR)
2,000,000 = 1CH 2,000
- 96T 4554(AEYRI, AIEE, ER)
2,000,000& = 1CH 2,000
<997 Q025(AMB M, AIYE, Z2R)
2,000,000& = 1CH 2,000
-6 92(Sa=, AEE, BR)
2,000,000& = 1CH 2,000
- 824 2031(S=a=, AIZE, 3R)
2,000,000& = 1CH 2,000
202 O] 4,592 4,816 N224
01 2o 4,592 4,816 N224
2d2 M=Us 40|
70,000& = 22 = 4198 = 80/100 4,592
301 LerEAz 4,592 4,480 12
10 HAIAHIE &S 4,592 4,480 12
O=2d% HM=Ua IS o2
70,000& = 22 = 4198 = 80/100 4,592
405 XHAHE S 135,000 76,000 59,000
01 MARESF=H 135,000 76,000 59,000
Oxtg+g 35,000
—H-e 35,000
2853 (829)  35,000,0008 = 104 35,000
OSAEMYIIAHIS (B EES D)
100,000,000& * 1CH 100,000
Herze| (L33 /UBHAH) 4,004,220 2,457,532 1,546,688
< 15,000
Al 3,989,220




A 2 A

HE: AP (LB /L)

& FHAr2e| (ctel: &
SA - M. CHY (B HAL . HA 2 A} OH dE e
EAk2tel 3,979,220
&atel 376,035
201 LBt 368,535
01 AFR 22l 30,649
Oger=ZH| 30,649
—EXH2IZE FIIHA 150,000& = 12l 150
—E2HMAHeIZE TUHAHSAL ¥ SN2 W
== 120,000& * 123 1,440
—EOIQIH BRI AT (= 1,005k, 22
.9kV) 1,092,000& * 12& 13,104
—23 AN AYAL FYEH EY
1,500,000 * 14 1,500
—EE EA AYAL SN L HAUH
= 300,000& =+ 123l 3,600
—&sE HAH 4,675
AN=E 2,200,000 * 23] 4,400
JIEtAE 275,000& * 13 275
—&EAA S 90& * 9,066M * 53| 4,080
—AM2E =X & 450,000& * 23| 900
—ANEEX B7A2 i
1,200,000 * 13| 1,200
02 22234l 337,886
O3z & HA3Y= 307,121
—XMIIMNER(2E) 189,260
23 6,300 * 950kW * 123 71,820
ANEBRZ(7-88)
89.7& = 180,000kW » 2& 32,292
ANER2S(4-6,98)
58.3& = 140,000kW = 43 32,648
A2 23(10-38)
62.5% * 140,000kW » 63 52,500
—ZHARSl TR A 2,515
lEes
5,316 * 3KW x 7IHA = 128 1,340
ANBRZ(7-8E)
93.9% » 200kKW » 7JHA » 23 263
ANER2S(4-6,98)
62.63 * 200kW * 7IHA * 43 351
AE23( 10~38)
66.72 * 200kW x 7IHA » 6 561
— AT AMNEZ(2F) 12,180
MNE23( 101~3000I0})
1,610& * 200m" = 12& 3,864
MNE23( 301ED)
1,980& * 350m" = 12& 8,316




A 2 A

I JHAZE(UEID DN /U A )

cHel: HAr2E (42l &
A -3 -H2A(SH) - HEAMY - BES Of &F 2K glggi; Hlns2t
—ASTAEE(AFERD) 1,376
MEL3( 1~300I5t )
9002 * 30m x 12 324
AF2 223(31~50015t)
1,080 « 20m * 12 260
AE22(51~1000135t)
1,3202 = 50m » 128 792
—&ASZANSE(JIEIEA 2,333
MNEL22(0~30015t )
9008 * 30m * 444 x 128 1,296
A2 23( 31~50015t)
1,080 = 20m * 40§ * 12& 1,037
—SIE=ZAIRE( Al 23) 2,874
- 0~3001 5t 16094 * 30m * 12¢ 58
31~50015t 2302 * 20m * 12 56
51~ 100015t 2902 * 50m x 12 174
101~30001 5t 3602 * 200m * 122 864
301t 41090 = 350m 122 1,722
—SI=TANEZ(DIEFE AN 400 4) 452
0~30m 160 = 30m  4)A x 128 231
31~50m 230 * 20m x 4IHA x 129 221
— AN DA HAS S (25)
150,000 * 13 150
— AN SIH (2H) 50,0008 * 23 100
— XSS B2l 55,878
ASMH= 230 33,428,0008 * 13 33,428
ANESTHEHE 73
21,850,000 * 18] 21,850
AL XH BH 600,0008 * 13] 600
—ASLAEES A SH S Y
36,003,000 * 13 36,003
—SBNLRSS(AEHA2)
2,000,0009 * 23] 4,000
OANEHHISXIH 30,765
—HAMAE B2 5,000,000& * 13 5,000
—HAb HIIAE KX 22 2,450
2.2 AL 2
550,0002 * 23] 1,100
A= 242 MR 2
450,0002 * 33l 1,350
—HA W - Hgey RXES 6,800
He)|HY RX24 500,0008 * 43 2,000
AP W L) AS Y A
400,0002 * 12CH 4,800
—JIEt N8 |XI2e] 7,500
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A 2 A

HH: AR (LHBDHT/LPHT)

el HAR2 (etel: =3
SN EE - ER(EN) - NRAY - BaS 01 &t o8 e HlRE2
Oil &t o8
=2 L ANEE S
1,000,000& * 53] 5,000
2AE ZE2 M=+ 500,0008 * 53] 2,500
—dA== Xl 9,015
NEd (22 254 =1t
3,362% * 6,174.54m" = 30% 6,228
ANZ2E(E2 154 0ldt)
1,897& * 608.14m’ 1,154
olgtICHOl A (154 0lat)
2,470& » 661 1,633
305 &3S 5,000 5,000 0
01 tia=s 5,000 5,000 0
Ozdith &2 (MII1RE2)  5,000,0008 * 14 5,000
405 AHoHESHI 2,500 0 2,500
01 MHARESFSH 2,500 0 2,500
OE10Y M8 £ 300,0008 * 58 1,500
OHEAME=ZI & 1,000,0008 = 1CH 1,000
2tAr2 2| 4,640 44,880 A40,240
201 LEH2HH| 4,640 4,880 A240
01 AtER22/Hl 3,000 3,000 0
O2= &AL OIIE 22| 250,000& = 12& 3,000
02 223l 1,640 1,880 A 240
OB32=aZLHA 1,640
— A>T ANEE (FISZA) 213
Ag23 (0~20 0IGtH)
510& » 20m = 12& 123
ANER3 (21~30 0I5t)
750 x 10m «12& 90
— A& ZHlI= Xl 1,427
IR, =R (BEED)
4,778&* 163.17m 780
22 ZAH(154 Olot) 9283 » 84.92m 79
7, s8 XNE2AH254 0I5t
1,615& * 90.96m 147
Al (APTI5E 0IGH)  1,0598 =159.93m 170
22 (APT20E Olot) 1,253%1 = 52.71m 67
=3 (APT25E =1t) 1,434 = 83.9m 121
Estget(204 0I5t
1,059% * 59.29m 63
S8s FAzel 3,598,545 1,120,000 2,478,545
401 A &HIL 204 3,598,545 1,120,000 2,478,545
01 Al&HI 3,589,050 1,111,864 2,477,186
O3J18 AMRAL USSAM 1,500,000
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A 2 A

HH: AR (LHBDHT/LPHT)

Sl F AL (Etel: &8
_ _ _ Muo
SN EB -GS - MBAY - BES 0 & 24 e HRE2
—EX I 1,500,000,0008! * 14! 1,500,000
OFFIS 3194 L 2D AFZA 389,050
— Al &l
450,000,008 * 1! * 86.4555/100 389,050
ONYS HA AIEZA
1,600,000,0002 * 14! 1,600,000
ONE1S ZUMIME FUHE EXMHL Y
70,000,0008 * 14! 70,000
OS2 Z HYFe HAHBA 30,000
—ASH 30,000,0008 * 14! 30,000
02 el 6,255 5,544 711
OBFIS 3194 L 2D AFZA 22|
50,000,0008 * 14! « 1.39/100 6,255
03 Al& SO 3,240 2,592 648
OBFIS 394 L D AFZA ALL|
450,000,002 * 11 * 0.72/100 3,240
22R ez 25,000 20,000 5,000
= 15,000
7 Al 10,000
=2Z2R Marzel 10,000 5,000 5,000
201 Lete gyl 10,000 5,000 5,000
01 At 2l 10,000 5,000 5,000
ONRM SZ4+48 200,0008 * 502 10,000
S8X0 ZRMAR2I(F) 15,000 15,000 0
= 5,000
101 Q124H| 4,000 4,000 0
= 4,000
04 JIZHIZNSES 4,000 4,000 0
O=ZRMA Matat=e
32,0008 * 1% » 1259 4,000
= 4,000
201 Y2 Y| 5,300 5,300 0
= 5,300
01 At el 5,300 5,300 0
OMAZE HAL R0l 10,0008 * 3% 300
= 300
O=g +48 500,0008! * 43l 2,000
= 2,000
O=ZZRM ZHLSE 300,008 + 103 3,000
= 3,000
202 01t 5,700 5,700 0
= 5,700
01 =UHOiI 5,700 5,700 0
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HE B (UUBDBHE/UUHE)
Rl =237 Motz (&9 HM
SN EE - ER(EN) - NRAY - BaS 01 &t o8 e HlRE2
REEE N HIEEEIER
50,0008 * 2% * 52 * 33 1,500
L= 1,500
O=3RMe2te] HEf KAt
20,0002 * 5% * 8Y * 4 3,200
= 3,200
ORZLMY 2592 23
50,000& » 2% » 2& 53] 1,000
= 1,000
HE 2L ZHI (3 HD)(IIEH/IIE 97,884 138,411 AN40,527
ol 2| 16,800 22,980 26,180
ole 2oty 16,800 22,980 £6,180
203 RF4Hl 4,200 3,780 420
04 FN2ILRFAHI 4,200 3,780 420
O3 At 4,200
—RA2IHRFAH 350,000& = 123 4,200
204 M@ 12,600 19,200 A6,600
01 MM HRHFH| 1,200 1,200 0
OXMg S =&dl  100,000& ~ 18  12& 1,200
03 SEYR-AESHI 11,400 18,000 26,600
oA BAYY BN
50,000& * 128 * 12& 7,200
O2NMELE SR 50,000& * 59 * 12& 3,000
O=AR)| gyBew
100,000& * 1€ = 12& 1,200
DL 81,084 115,431 ~34,347
Jl=&Hl 81,084 115,431 N34,347
201 Let2d| 15,464 22,351 26,887
01 AtE22/H] 15,464 22,351 26,887
OSAEX 7L 13,000& * 172A « 12&8 2,652
OEZ20HAHI 5,000& = 64 = 178 » 128 6,120
Oggteg 100,000& = 123 1,200
O4E EM7YYI 50,000& = 12& 600
Oxnl2 =4l 5,590
—S A2 (AE) 500,000& * 1CH 500
—ZelH=cl 100,000& = 3CH = 50/100 150
—ZSAMIIEH 200,000& = 53| * 104 1,000
—DEHEUH(ES) 200,0008 * 53 * 3CH 3,000
—pc==cl 100,000& = 17CH * 20/100 340
—JIEt =clt 50,000& * 12& 600
OJIEt AR ESHI 5,000& » 174 » 12& 1,020
Oullat = 17,182,000& * -10/100 AN1,718
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04l 65,620 93,080
=LH0dbl 65,620 93,080
O3l AL bl 65,620

—2HHOHl 20,0003 * 122 « 178 ~ 128 48,960

— 22l 70,000& * 14 = 17 16,660
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